=EREMR 45 EE/\TA—F (FER29F5A238 13:.00FF =)
— EB/5A—4 |
1 RGEME AN
BHEERSEE=4 (1Z%fE <1593) [RFIFEESE—F 1
(12#{E 8~30) 154 MPa
12.7 cps
- MEB KL (RFERAK)
[RFIFIEME AE (BEfE 17.0~70.0) qE o
ﬁh
= BRM
- (FRHIE 0~930) 306 Mw (352 %)
S G 7K
K
ﬂu
= IIII > Jg*g
RriFRaRE | mksg | PR >87) 9599 kpa
°
FRFFREHRR b?ﬁg,/ 7%*D%9
T~ — =
EEEN (HE2TE 1~100) b
\_ %L\]](,'I'f‘/j’ 7|_{,>70 B 21 cps
lﬁﬁ?h%tﬂﬁ(#% %R IR R E) 1;&%3@1&;’5& AR % %Eﬁ’-'dﬂﬂ(lﬁ?b‘ﬁltﬂﬁ)
(IR 0~1000) 350 o6 (REME 0~3210) 999 og | | I =2660) 10398 Mwe(38.8 %)
| &% E-sKRMEZSRT—Ia | __
B il LS ESSRARNo 1 E=HHRRAMNo0.2
PN Bh —46 nGy/h 36 nGy/h
&L (1) 1.6 m/s
AR it E=4KRMNo.5 )
41 nGy/h S —
XA - ELEIXEL81m E—SAT—as
o) / 40 nGy/h
[E=4HRF-E=FRT—ar (B£fE20~170) | e
=AAENo. ~ ] mmnmm | :
29 nGy/h \@ = N

VR

E=HHRZXFNo0.3
36 nGy/h

C— kB




